I NFMTCNS 3]G (De Morgan's Law):

(AUB) = A"nB’

(ANB) =A"UB’




49, x € (AU B)’
=>x¢& (AUB)
>x¢AdRX €B

>x€ A dd¢x € B’
=>x€(A"'NB)

(AUB) S (A'NB") i, (i)

J4€, xe (4'nB)
>x€AGdex € B’

=>x¢ Ad3x ¢ B
=>x¢& (AUB)

=>X€E(AUB)’
(A"NB)S@AUBY .

(i) @ (ii) =CO T3,
(AUB) € (4" NnB’)




44, x € (AnB)’
=>x¢& (ANB)
>x¢ AN x ¢ B

=>x€A NY]T x € B’
=>x€ (A"UB")

(ANB) € (A UB") oo (i)

J4€, xe (4"uB)
>x€A NYJ(x € B’

=>x¢ ANY]Ix € B
=>x & (AN B)

=>X€E(ANB)’
(A"NB)S(AUB) ..

(i) @ (ii) =CO T3,
(AUB) € (4" NnB’)




AUB (AUB) ANB




